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INTRODUCTION

1. Simple Partnership: In a simple partnership, the capital of partners are
“ e —

invested for the same period of time,. J
2. Compound Partnership: In a compound partnership, the capital of partners

are invested for different period of time, //

| "o |
3. Working Partners: /A partner who manages the business s known as ;

working partner and he may get an additional salary or prpfit for mays
“

the business.
4. Sleeping Partners: The one who simply i/ny!s the money is 7 sleeping

S —
par tner. »{/
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A’s capital is twice of B’s capital, B’s capital is 4 times of C’s capital.
Find the ratio of capital of B, C & A?

(a)12:4:1 (b)4:1:8 (c)1:4:12 (d)3:4:1
(e) None of these ]

T
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If 3 (A’s capital) = 5 (B’s capital) = 6 (C’s capital) What is the ratio

of capitalof C: A: B?
(a) 6:10:5 (b)10:6:5 e} 5 6 1
(e) None of these
C
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A & B entered into the partnership with Rs. 5000 & Rs. 8000 respectively. At the

end othey received Rs 3900. Find the profit of\ 3T B SHAYT: 5000 3R
8000 TTT & Ueh TSI oh1 YA & ¢ | TS oA & 3id 0 3¢ 3900 59 firer | B &

(a) 1500( (b) 2400 /(c) 3000 (d)900 (e) None of jAese
Ao 2B
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A & B entered into the partnership with a capital of 10,000 & Rs

At the end of year , they received the profit in the ratio of S : 3./Find the capital
of B? A & B SHHYT: 10,000 3R x hi Gt o ATY AR ¥ YA [HILIIHA
AT W37 5: 3 & ATATT | ATH UTH FAT | SAIATT H B Ht G i

(a) 6000 (b) 5000 (c) 8000 (d) 4000

(e) None of these W
Q 7
9

Mg‘é@

espectively.
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A& B’entered into the partnership with the partnership with the capital
of Rs. x & 36000 for 8 months & 12 months respectively & received the
profit in the ratio 1 : 2. Find the value of x. A & B = 8 5&l4 3117 12 9&H &

%mamw \mmmmmmuﬁaﬁmutrmﬁnm%mﬂHI
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A & B _gntered into the partnership with 25000 & 30,000 respectively.

-—-——: p
Q AR B 7 SHAL: 25000 3R 30,000 F AT
T TAYT {oRaT | 4 WEH & a1g C 40,000 3 AT T T4 4TS 1yr 3 34
% 14700 =T AATH g1 81 C 1 FEE1 A1d hitea?

(a) 4500 (b) 5400 (d) 5100, (e)None of these
9
o "o
3 5@






PARTNERSHIP-1 MATHS WITH SACHIN BALIYAN SIR
A, B & C start a busipess with a capital 5000, 6000 & 8000 respectively. Aftel@
months A withdra‘- B invest Rs.[2000) ¥urther 3 month C withdraw
e

half of his capital. At the end of year, C have the proﬁt of Find the total
profit. A, B 31X C swu9T: 5000, 6000 - -
wEH a1 A 1000 Fresmer &ar mszooomwﬁéww%t%u 3 3R W T C
AT gt w Aren feea Femter @an ) afe a6 & ofa |, C & atE 7200 W1 AT 81 FHA
ST UTH hil

(a) 20000 | (b) 21300 /(c) 12000 (d) 18000 (e)None of these
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In a partnership, among A ,B and C, A invest 8000 while B invest 12000 but at the
end of 4 months , A withdrew half of his capital while B put 50% of his capital
more . if at the end of six months C join them with 16000 then find out share of
profit of A , B and C out of total profit Rs 13200 ? A, B 31T C &hl @rsleRl 4, A 7
8000 =kt FAayT feman, Tafes B 7 12000 =1 FAawr foean, @t 4 7l & st@ /1, A 3 aroHt
et Ut Frerer oY, wafer B 7 ot ot @61 50% 3tferes o faam aft sr wdm &
HT | C 16000 = 7Y 3¢ AT & T 13200 T 3 THed o9 T H A, B 3R C &1 ATH 719
h?






